Week 11
Thursday 4th June 2020
Year 5- Varied fluency
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Subfract More than 4 Digits

Subfract More than 4 Digits

Ta. Calculate the missing answer.

Tthhth H T O

1b. Calculate the missing answer.

TThTh H

2b. True or false?
TThth H T O
.

* 15

2 4 2

3a. Use <. > or = symbols fo complefe fhe.
sublraction.

3b. Use <. > or = symbols fo complete the.
subtraction.

TThth H T O
.o .

e 67,582 42,471 25112

4a. Circle the correct answer for the.
subhraction.

TTh Th
.

A13,212

heig

B.13,124 C.13122

A 11,424

hid

B.11414  C.11434
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Subfract More than 4 Digits

Sa. Calculate the missing answer.

3 8 1 6 4

- 17 4 08

4a. True or false?

6b. True or false?

9 4 1 7 3 5 21 0 9
- 1.8 2 6 5 -2 9 7 21
8 5 9 0 8 7 2 6 2 8

%

7a. Use <. > or = symbols fo complete fhe
sublraction.

7b. Use <, > or = symbols fo complete the.
subtraction.

pe 51,605-19,174 32,431

65,014 -35,295
b1

29,720

8a. Circle the correct answer for the.
subhraction.

8b. Circle the comect answer for the.
subraction.

A.50835 B.51,834 C.50,834

A.24084 B.25084 C.25094
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